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1.
Consider a put contract on a T-bond with an exercise price of 
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 The contract represents $100,000 of bond principal, and had a premium of $750. The actual T-bond price falls to 
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 at the expiration. What is the gain/loss on the position?

2.
Consider a put contract on a T-bond with an exercise price of 
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101.

 The contract represents $100,000 of bond principal and has a premium of $750. The actual T-bond price is currently 
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100.

 How can you arbitrage this situation?

3.
Explain how a swap could be used to reduce interest-rate risk for a bank with more rate-sensitive assets than rate-sensitive liabilities.

4.
Suppose you believe that Du Pont's stock price is going to decline from its current level of $82.50 sometime during the next 5 months. For $510.25 you could buy a 5-month put option giving you the right to sell 100 shares at a price of $83.00 per share. If you bought a 100-share contract for $510.25 and Du Pont's stock price actually dropped to $63.00, you would make how much?

5.
Company A can issue floating rate debt at LIBOR + 1 percent and can issue fixed rate debt at 9 percent.  Company B can issue floating rate debt at LIBOR + 1.4 percent and can issue fixed rate debt at 9.4 percent.  Suppose A issues floating rate debt and B issues fixed rate debt.  They engage in the following swap: A will make a fixed 7.95 percent payment to B, and B will make a floating rate payment equal to LIBOR to A.  What are the resulting net payments of A and B?
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